
Laboratório 1 
 Amplificadores 

Básicos com Amp Op



Recordação

Amplificador Inversor

Amplificador  Não -Inversor

Seguidor de Tensão (Buffer)

A Single Op-Amp Difference Amplifier

Three Op-Amp Difference Amplifier

(Instrumentation Amplifier)
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Amplificador Inversor



𝑖1=
𝑣𝐼−𝑣1

𝑅1
= 

𝑣𝑖−0

𝑅1
=

𝑣𝐼

𝑅1

Where will this current go? It cannot go
into the op amp, since the ideal op amp
has an infinite input impedance and
hence draws zero current. It follows
that i1 will have to flow through R2 to
the low-impedance terminal 3.

𝑣𝑂= 𝑣1 − 𝑖1𝑅2 = 0 −
𝑣𝐼

𝑅1

G = 
𝑣𝑂

𝑣𝐼
 = -

𝑅2

𝑅1



Resposta em Frequência

LM741 |  fT = 1MHz

LF351 | fT = 4MHz



Resposta em Frequência em 

Simulação (LTSPice )

fT



Amplificador  Não -Inversor



𝑣𝐼𝑑 =
𝑣𝑜

𝐴
 = 0

𝑣𝑜 = 𝑣𝐼 +
𝑣𝐼

𝑅1
 𝑅2 

G =
𝑣𝑂

𝑣𝐼
= 1 +

𝑅2

𝑅1



Seguidor de Tensão 

(Buffer)

G =
𝑣𝑂

𝑣𝐼
= 1 +

𝑅2

𝑅1



Function 

generator R20 1k

TP19

GND

High impedance 

source

TP18

Load

TP20 TP21R19 10k

Vload
Vsource

GND

Loading Effect 

Op Amp Buffer

Function 

generator

R20 1k

TP19

GND

High impedance 

source

TP18

Load

TP20 TP21

R19 10k

Vload

Vsource

+15 V

V+2

3

-15 V 

7

4

6
–

+
V-TP16

TP17

GND

Vout

Vin

Exemplo 1



1 M

1 M

A
10 VCC

Implemente o circuito abaixo em um protoboard. Meça a tensão VA utilizando um 
voltímetro analógico. 

Repita a medida anterior utilizando um circuito isolador entre o ponto A e o 
voltímetro analógico.

Exemplo 2



Amplificador Somador Inversor 

𝑖1=
𝑣1

𝑅1

𝑖2=
𝑣2

𝑅2

... 𝑖𝑛=
𝑣𝑛

𝑅𝑛

𝑖=𝑖1 + 𝑖2  … . 𝑖𝑛

𝑣𝑜= 0 − i𝑅𝑓

𝑣𝑜=−
𝑅𝑓

𝑅1
𝑣1 +

𝑅𝑓

𝑅2
𝑣2 + ⋯

𝑅𝑓

𝑅𝑛
𝑣𝑛



• Nó a:

• Nó b:

Va = Vb (terra virtual)

A Single Op-Amp Difference Amplifier

𝑣0 =
𝑅2

𝑅1
𝑣2 − 𝑣1



Although ideally the difference amplifier will amplify only the differential input
signal vId and reject completely the common-mode input signal vIcm, practical
circuits will have an output voltage vO given by 

1

𝑣𝑜 = 𝐴𝑑𝑣𝐼𝑑 + 𝐴𝑐𝑚𝑣𝐼𝑐𝑚

Where Ad denotes the amplifier differential gain and Acm denotes its common-mode
gain (ideally zero). The efficacy of a differential amplifier is measured by the degree
of its rejection of common-mode signals in preference to differential signals. This is
usually quantified by a measure known as the common-mode rejection ratio
(CMRR), defined as:

𝐶𝑀𝑅𝑅 =20 log
𝐴𝑑

𝐴𝑐𝑚

2



CMRR

CMRR =20 log
Ad

Acm



Aplicação: 
Uso em instrumentação 



Three Op-Amp Difference Amplifier

(Instrumentation Amplifier)



1st stage

2nd stage

Single Op Amp 
Difference Amplifier

Noninverting 
Amplifiers

Simbolo



The circuit with the connection between node 
X and ground removed and the two resistors 

R1 and R1 lumped together. 
This simple wiring change dramatically 

improves performance !

Teorema
 de Miller



Resistência de entrada muito alta      

Resistência de saída menor que a dos amp ops comuns

CMRR superior superior à 100 dB

Ganho de tensão em malha aberta muito superior ao dos 
amp ops comuns

Tensão de offset muito baixa

Drift térmico extremamente baixo

LH36 (National)

Ri  = 300 MΩ

Ro  = 0,5Ω

CMRR = 100 dB

Vi (offset) = 0,5 mV

Drift relativamente alto =  10μV/oC 



O estágio seguinte é um amplificador diferencial :

1

2

3

Das equações (1), (2) e (3), resulta :

A

B

A

B

Se R3 = R4:

𝑣𝑜 = 1 +
2𝑅2

𝑅𝑔
𝑣2 − 𝑣1



Application of Instrumentation Amplifier

Instrumentation Amplifier

Temperature indicator Temperature controller Light-intensity meter



Amplificadores de Instrumentação 

Integrados

INA114



INA118



INA128 e INA129



Ad - diferential gain

Ac -  common mode gain

If vc =0

𝑣1 = - 𝑣2 𝐴𝑑 = |
𝑣𝑜

2𝑣1
|

𝑣𝑜= 𝐴𝑑𝑣𝑑 +𝐴𝑐𝑣𝑐
𝑣𝑑= 𝑣1 - 𝑣2 = 2 𝑣1

𝑣𝑐= 
𝑣1 + 𝑣2 

2

𝑣𝑑= 𝑣1 - 𝑣2

𝐴𝑑 = 
𝑣𝑜

𝑣𝑑

If 𝑣1 = 0,5V 𝐴𝑑 = |𝑣𝑜𝑑|

1

if vd =0 

𝐴𝑐 = |
𝑣𝑜

𝑣1
|

𝐂𝐌𝐑𝐑 = |
𝐀𝐝

𝐀𝐜
|

𝑣1 = 𝑣2 

𝑣𝑐 = 𝑣2 

𝐴𝑐 = 
𝑣𝑜

𝑣𝑐

If 𝑣1 = 1V 𝐴𝑐 = |𝑣𝑜𝑐|

2



Ad measurement using |v1
max |= |v2

max| = 0,5V.

Inverter (gain=1)

Function 
Generator

Ac measurement using v1
max = v2

max =  1V.

𝐂𝐌𝐑𝐑 = |
𝐀𝐝

𝐀𝐜
|

Function 
Generator

𝑨𝒅 = |𝒗𝒐𝒅|

𝑨𝒄 = |𝒗𝒐𝒄|

Ad Measurement

Ac Measurement

𝑣1 = - 𝑣2 

𝑣1 = 𝑣2 

3

4



Typical CMRR Curve

𝐂𝐌𝐑𝐑 = |
𝐀𝐝

𝐀𝐜
|

CMRR measurement is made in different frequencies ! 



Roteiro Experimental







Kits Educacionais



ME3000 – Analog 
Electronic Courseware 







Connect the
power supply to
the training kit
using the 4-way
power supply
cable. Set the
dual channel
output voltages
to exactly +15V
and -15V,
respectively. Set
both current
limits to 0.5 A.
Turn on the
power supply.



















Simulação em 
LTSPice



Medida da 
Resposta em Frequência



Ganho x Frequência
(Fritzing – LT1022)

resistor 
variável



Single Op Amp 
Difference Amplifier

Medida da CMRR
(LM741)



Medida Ac

Medida Ad

Sinais de 
Entrada

Alimentação 
Simétrica do 

Amp Op

𝐂𝐌𝐑𝐑 = |
𝐀𝐝

𝐀𝐜
|



Instrumentation
Amplifier

Medida da CMRR 
(INA118)



𝐂𝐌𝐑𝐑 = |
𝐀𝐝

𝐀𝐜
|

Medida Acm
Medida Ad



CMRR
(Fritzing – INA118)
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